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Comprehension MCQ

'Cut out the middle man' refers to which type of channel of distribution.

1. Zero level

[ ]

. One level

. Two level

Lia

4. Three level

Options:

4855843481. 1
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Comprehension MCQ

Sometimes company sells its securities to a limited number of sophisticated imvestors, Identify the method of
floation of new issue discussed above.

1. Offer to employees
2. Private placement
3. Rughts 1ssue

4, Public 1ssue

Options:

4855843485. 1
4855843486. 2
4855843487. 3
4855843488. 4
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4855843486. 2
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At this stage. we presume that the 1dea has been transformed into a product and 1s being produced and sold.
This 1 the first encounter with the rest of the market.
The above lines refers to.

1. Seed capital finance
2. Start up finance
3. Second round fmance

4. Last stage fnance

Options:

4855843489. 1
4855843490. 2
4855843491. 3

4855843492. 4
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4855843489. 1
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4855843491. 3

4855843492. 4
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Matilda heard her friends talking about a new flower growing in the hilly areas. She read more about it on the
net and she thought that 1t would be a good business 1dea if she would be able to grow them i her nursery.
Identify the trend that 1s being discussed here.

1. Read frend

2. Think trend

3. Watch trend

4, Talk trend

Options:
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4855843494. 2
4855843495. 3

4855843496. 4
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4855843493, 1
4855843494, 2
4855843495. 3
4855843496. 4
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Comprehension MCQ

Schools in Jaipur change the uniform of the students from summer to winter after Diwali as they know that the
environment changes at that time. Identify the importance of understanding the environment shown above.

1. Tapping useful resources
2. Better performance
3. Image building

4. Formulation of strategies and polices

Options:

4855843497. 1
4855843498. 2
4855843499, 3

4855843500. 4
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Options:

4855843497. 1
4855843498. 2
4855843499. 3
4855843500. 4
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REAL YOU is a leading mobile phone company m India. The company decided to launch a new model Al
which will have in-built latest software to encourage hands free use and enhance user experience through 3D
photos. They are also looking info ideas to use ecofriendly recyclable materials for the body of phone which
will cause less environmental damage. Identify the two factors of PESTEL model from the above cause.

1. Economic. Soctal
2. Ecological, Technological
3. Legal. Economic

4. Social, Political

Options:

4855843501. 1
4855843502. 2
4855843503. 3
4855843504. 4
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4855843502. 2
4855843503. 3

4855843504. 4
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Convenient frames of reference for streamlining the process of generation of ideas 1s known as
1. Idea generation
2. Idea framework

3. Idea fields

4. Brain storming

Options:
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4855843506. 2
4855843507. 3
4855843508. 4
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4855843508. 4
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Comprehension MCQ

It is the process of entreprencurship which mvolves the translation of a useful idea wto an application which
has commercial value. It takes persistent effort to workout analytically the details of the enterprise or science.
The above lnes indicates which step of process of creativity.

1. Idea germination
2. Preparation
3. Innovation

4. Hlumination

Options:

48558435009. 1
4855843510. 2
4855843511.3

4855843512. 4
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48558435009. 1
4855843510. 2
4855843511. 3

4855843512. 4
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Comprehension MCQ

Choose the option not reflecting formalities for standing a manpower planning.

1. What kind of people are required

(]

. Identify the target market

g

. How many people are required
4. What will be selection process to procure personnel
Options:

4855843513. 1

4855843514. 2



4855843515. 3

4855843516. 4
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4855843513. 1
4855843514. 2
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Which component of financial plan summarizes all the projected sources of funds available to the venture to
raise fimance.

1. Proforma investment decisions
1. Proforma financing decisions
3. Break-even pomt

4, Proforma cash flow

Options:

4855843517. 1
4855843518. 2
4855843519. 3

4855843520. 4
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The process of imitiating production in accordance with pre-conceived production plan 1s said to be.
1. Follow-up
2. Dispatching
3. Routing

4. Scheduling

Options:

4855843521. 1
4855843522, 2
4855843523. 3
4855843524. 4
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4855843521. 1
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4855843523. 3
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Which of the following 1s NOT the characteristic of partnership?

1. Mutual Agency

[ ]

. Protit Sharing

. Artificial Person

L]

o

. Unlimited Liability

Options:

4855843525. 1
4855843526. 2
4855843527.3
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4855843525, 1
4855843526. 2
4855843527. 3

4855843528. 4
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Identify the components of Brand.

A. Brand Name
B. Trade Mark

C. Price

D. Brand Mark

Choose the correct answer from the options given below:
1.A.B. C. D only
2.A B.Conly
3.A. B.D only

4. A C.Donly

Options:

4855843529. 1
4855843530. 2
4855843531.3
4855843532. 4
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4855843529. 1
4855843530. 2
4855843531. 3

4855843532. 4
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LISTI LISTII

A dvertising I. |Coupons, lovalty rewards etc.

Personal Selling| IL |puilding good relations

Sales Promotion] [T [TV, radio etc.
Public Relations] IV. |Oral Presentation of message

=l el I b

Choose the correct answer from the options given below:

1. A-L. B-IL. C-III, D-IV

| ]

CA-TV, B-IILL C-I1, D-I

CA-IIL B-L C-IV, D-II

(Y]

o

CA-IL B-IV, C-1L D-II

Options:

4855843533. 1
4855843534. 2
4855843535. 3

4855843536. 4
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Options:

4855843533. 1
4855843534, 2
4855843535, 3
4855843536. 4
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Which strategy consists of a plan that positions a company'’s product to gain competitive advantage?
1. Promotion Strategy
2. Sales Strategy
3. Product-mix-Strategy

4. Price-mix-Strategy

Options:

4855843537. 1
4855843538. 2
4855843539. 3
4855843540. 4
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4855843537. 1
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4855843539. 3

4855843540. 4
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Comprehension MCQ

Nitin focuses on targeted groups of consumers promoting his products, Which of the following promotional
strategy approach he uses?

1. Above the line
2. Below the line
3. Through the line

4. Diagonal

Options:

4855843541. 1
4855843542. 2
4855843543. 3

4855843544. 4
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4855843541. 1
4855843542. 2
4855843543. 3

4855843544. 4
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Marketing mix consists of elements,
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Options:
4855843545. 1
4855843546. 2



4855843547. 3

4855843548. 4
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4855843545. 1
4855843546. 2
4855843547. 3
4855843548. 4
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Pond, Magei. Amul ete. are the example of type of Brand name.
1. Individual Brand name
2. Corporate names

. Family Brand name

s

e

. Alpha-numeric names

Options:

4855843549. 1
4855843550. 2
4855843551. 3
4855843552. 4
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4855843549, 1
4855843550. 2
4855843551. 3



4855843552. 4
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Suggest the consideration related to product that an entrepreneur should take care while selecting a channel of
distribution.

1. Types of buyers
2. Unit value of the produet
3. Good will

4. Buying quantity

Options:

4855843553. 1
4855843554, 2
4855843555. 3
4855843556. 4
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4855843553. 1
4855843554. 2
4855843555. 3

4855843556. 4
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Comprehension MCQ

Mohit 15 a successful business man. He 15 producing fried chicken by using a secret recipe. Now he has
decided to give the franchise of his business to 20 people all across the state. He has to make more raw
material to make the packets of the secret recipe. for the franchisee. Identify the advantage Molut will receive
by producing more packets of his secret recipe.
1. Knowledge of the market
2. Product acceptance
3. Cost advantage
4, Management experience
Options:
4855843557. 1



4855843558. 2
4855843559. 3

4855843560. 4
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4855843557. 1
4855843558. 2
4855843559. 3
4855843560. 4
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Identify the type of acquisition in which the purchasing company becomes a subsidiary of the purchased
company

1. Back flip acquisition
2. Reverse acquisition
3. Hostile acquisition

4. Friendly acquisition

Options:

4855843561. 1
4855843562. 2
4855843563. 3

4855843564. 4

Question Number : 606 Question Id : 485584891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T R {36 UgEH B3 forg hade drclt Ut Wiiel s BT o YeTad HUAT & ol &
1. ST AR
2. Afaam sifeRrg

3. S St
4. fopramguf arftrgTr



Options:

4855843561. 1
4855843562. 2
4855843563. 3

4855843564. 4

Question Number : 607 Question Id : 485584892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Select the one representing main ingredients of a franchise agreement

1. Product franchise

I

. Proprietary statements

3. Right and the only way of doing things

o

. Contmuing cost mplication

Options :

4855843565. 1
4855843566. 2
4855843567. 3

4855843568. 4

Question Number : 607 Question Id : 485584892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ

fae o ifSeR IHeiid &1 g Jradl &1 iR & ard &1 34

1. 3d1E (929 [depy HUPR

[

2, AFAHTH 599
3. I PHI- DI el SR UGHHTE diid]
4, FRaR e fAfgard

Options:

4855843565. 1
4855843566. 2
4855843567. 3
4855843568. 4

Question Number : 608 Question Id : 485584893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

"Pareto principle” relates to which of the following areas.
1. Cash Management
2. Inventory Management
3. Budgeting
4. Recervables Management

Options:

4855843569. 1



4855843570. 2
4855843571. 3

4855843572. 4

Question Number : 608 Question Id : 485584893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Ot e Fefafea S S feg e g aefia s
1. 71E HauT
= gdyT

. gulc

| B
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4, U YE e

Options:

4855843569. 1
4855843570. 2
4855843571. 3
4855843572. 4

Question Number : 609 Question Id : 485584894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

From the followng calculate Gross Working capital and Net Working capital, Creditors 210000, cash 220000,
stock 25000/

1. 235000, 35000
2.215000, 325000
3.325000, T15000

4.325000, 210000

Options:

4855843573. 1
4855843574, 2
4855843575. 3
4855843576. 4

Question Number : 609 Question Id : 485584894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

FermfeiRe & b preiier Yol 3R Y PRIl Yot aaRl 7 10000. 7T 2 20000 TP 7 5000 F1
O Y

1. 335000, 25000

[ B)

. 215000, 225000

. 325000, 15000

L)

4.325000, 210000

Options :

4855843573. 1



4855843574. 2
4855843575. 3

4855843576. 4

Question Number : 610 Question Id : 485584895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

A combination of alpha and numeric unique code which signifies certaimn aspects of the item in the inventory 15
known as

1. Motley erowd
1. Space
3. Stack keeping unit (SKV) code

4. Standard VS Made to order

Options:

4855843577. 1
4855843578. 2
4855843579. 3
4855843580. 4

Question Number : 610 Question Id : 485584895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

{1 SR e Y 1S o U WuTer ofl SRRl H S5eH & o T6qsl ol Xl ¢, & w0 A
EEIEIGI

1, Hied $138
JACHH
3. KO DI IFE (SKV) D18

4, FFT T SIS X a1 T

Options:

4855843577. 1
4855843578. 2
4855843579. 3

4855843580. 4

Question Number : 611 Question Id : 485584896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following information 1s NOT needed to find Economie order Quantity (EOQ)?
1. Annual demand

2. Ordering cost

L)

. Carrying cost

4. Profit margin

Options:
4855843581. 1



4855843582. 2
4855843583. 3

4855843584. 4

Question Number : 611 Question Id : 485584896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

FafeRaa & ¥ feog a1 o sraxaeal sfi® A 39 (E0Q) TR & [U 8! &
1. FIff®
2. TSN AT

3. 314 oA
4, TS &7 3R

Options:

4855843581. 1
4855843582. 2
4855843583. 3

4855843584. 4

Question Number : 612 Question Id : 485584897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

Balance sheet of ABC Itd as on March 31 2022,

Liability | Amount |Assets Amount
Capital A 30,000 | Machinery 50,000
B 30,000 |80,000 Furniture 20,000
Debtor (8000
Creditors 3000 Short term investment 5,000
Banl over draft 4.000 Cash 6,000
Short term loan 3,000 Bank 3000
92000 192000

Net working capital of ABC its 1s.

1. 12000

[ ]

. 10.000

3. 25,000

o

. 15.000

Options:

4855843585. 1
4855843586. 2
4855843587. 3

4855843588. 4

Question Number : 612 Question Id : 485584897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




A1 2022 9% U & 9 fafies & gan o

&gl RIEY EIESI RUE
BRI R 50,000
Gull A 50,000 EEIER 20,000
B 30,000 80.000 [29ER lsooo |
R 5000 1Y) 3fafel fFaw [soo0 |
HEBY aHitigmy 4000 |FTE 6000
BERECIEEA 3000 |§& 3000
92000 |92000 |
v ot I % Y i Uoh 8
1. 12000
2. 10,000
3. 25.000
4. 15.000
Options:

4855843585. 1
4855843586. 2
4855843587. 3

4855843588. 4

Question Number : 613 Question Id : 485584898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Arrange in sequence the followmg three level Channel of distribution.

A. Wholesaler
B. Agent

C. Retailer

D. Producer
E. Consumer

Choose the correct answer from the options given below:

1.D.B,C.EA

| RN

DB AT E

.D,B.AE,C

fad

4D.B.E.C.A

Options:

4855843589. 1
4855843590. 2
4855843591. 3

4855843592. 4

Question Number : 613 Question Id : 485584898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




[T & FafeiRad diF Sy oy &) ol H ouaiedd o
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B. Uy

C. PedR fdhal

D. fmfar
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1.D.BCEXA

{ ]

DB AE.R
3.D.B.AEC

4. D.B.E.C.A

Options:

4855843589. 1
4855843590. 2
4855843591. 3
4855843592. 4

Question Number : 614 Question Id : 485584899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Arrange the following in sequence for steps involved m identifying target market.

A. Divide the market into smaller market

B. Developing a marketing plan

C. Deciding what the general market wishes to pursue
D. Select segments to target

Choose the correct answer from the options given below:
LA By 61D
2.C.A,D\B
3.C,DAB

4B.C.D.A

Options :

4855843593. 1
4855843594. 2
4855843595. 3

4855843596. 4

Question Number : 614 Question Id : 485584899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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1.A.B.C.D
2.C,A.D.B
3.C.D.A.B

4. B.C.D.A

Options:

4855843593. 1
4855843594, 2
4855843595, 3
4855843596. 4

Question Number : 615 Question Id : 485584900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Marketing plan establishes how the entrepreneur will compete and operate in the market place. Identify m
sequence the following steps mvolved in marketing plan.

A. Conduet Swot analysis

B. Define marketing strategy
C. Business situation analysis
D. Establish goals

E. Identify the target market

Choose the correct answer from the options given below:
LG AR D
2.C,ELA DB
3.C,ED.AB

4 C,A,D,E.B

Options:

4855843597. 1
4855843598. 2
4855843599. 3
4855843600. 4

Question Number : 615 Question Id : 485584900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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1.C.E,A,B,D

2.C,E,A,D,B
3.C,E.D.A,B

4 CAD.EB

Options:

4855843597. 1
4855843598. 2
4855843599. 3

4855843600. 4

Question Number : 616 Question Id : 485584901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Creativity 15 important to entrepreneur, Arrange the following i sequence to explain the process of creativity,

A. Incubation
B. Preparation
C. Verifieation
D. Idea germination
E. Illumination

Choose the correct answer from the options given below:
L.D.B.EA.C
2.D,BAEC
3D,B.ACA

4D.B.E.C.A

Options:

4855843601. 1
4855843602. 2
4855843603. 3

4855843604. 4

Question Number : 616 Question Id : 485584901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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1.D.B.E.A.C
2.D.B.A.EC
3.D,B,A,C.A
4.D.B.ECA

Options:
4855843601. 1
4855843602. 2

4855843603. 3

4855843604. 4

Question Number : 617 Question Id : 485584902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




The right sequence in the innovation process 1s as follows.

A. Organising resources

B. Commercial application
C. Analytical plannings

D. Implementation

Choose the correct answer from the options given below:
LI ARG
2.C,A,D.B
3.B.D.A.C

4 ABCD

Options :

4855843605. 1
4855843606. 2
4855843607. 3

4855843608. 4

Question Number : 617 Question Id : 485584902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




AR Uicha H 981 o1 59 UPR &
A. TS HEY
B. AIUISI® ST
R CEGLYIE E L
D. Baa
-4 &8 74 fomedl 9 Hel SR &1 90 PifoY
1. D.AB.C
2.C,LA.D.B
3B.DA.C
1. AB.C.D
Options:
4855843605. 1
4855843606. 2

4855843607. 3
4855843608. 4

Question Number : 618 Question Id : 485584903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Gross working capital includes.

A. Trade Creditors
B. Current Assets

C. Current Liabilities
D. Expenses

Choose the correct answer from the options given below:

1. D only

| B

.A.Bonly

Lad

. B only

FEs

.B. D only

Options:

48558436009. 1
4855843610. 2
4855843611.3

4855843612. 4

Question Number : 618 Question Id : 485584903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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1. D only
2. A B only
3. B only
4.B. D only
Options:
48558436009. 1
4855843610. 2

4855843611. 3
4855843612. 4

Question Number : 619 Question Id : 485584904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Identity the type. purpose and example of the merger discuss below. "Merger takes place between two
companies that deal i the same products but in separate markets."

A, Horizontal Merger

B. Acqusition of Eagle Bancshares Ine. by the RBC Centura
C. Acquisttion of Mobiling telecom inc by Broadcom

D, Matket extension Merger

E. Purpose to make sure that merging compantes can get access to a bigger market and that ensures a bigger
client base

Choose the correct answer from the options given below:
1.B.A Conly
2.B.D. Conly
3.B.E.Conly

4.B.D.Eonly

Options:

4855843613. 1
4855843614. 2
4855843615. 3

4855843616. 4

Question Number : 619 Question Id : 485584904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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1.B,A Conly
2.B.D, Conly
3.B.E. Conly

4.B.D.E only

Options:

4855843613. 1
4855843614. 2
4855843615. 3
4855843616. 4

Question Number : 620 Question Id : 485584905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Select the correct option related to conglomerate.

A. Merger between firms that are involved in totally unrelated business activities
B. Eg Coca-Cola and Pepsi

C. Eg Walt Disney Company and American Broadeasting company

D. These are two types -Pure and Mixed

E. Merger between companies which operate i the same space

Choose the correct answer from the options given below:
1.A.C. and D only
2. A.Band C only
3.C.Dand E only

4. B, Cand D only

Options:

4855843617. 1
4855843618. 2
4855843619. 3
4855843620. 4

Question Number : 620 Question Id : 485584905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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1. A, C. and D only

{ ]

A, B and C only

L]

. C,D and E only

4. B, C and D only

Options:

4855843617. 1
4855843618. 2
4855843619. 3

4855843620. 4

Question Number : 621 Question Id : 485584906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Spotting an 1dea often triggers the process of sensing an opportunity. The following are the sources which lead
to emergence of basic ideas.

A, Problems

B. Change

C. Inventions

D. Vision of creativity
E. Economic 1dea

Choose the correct answer from the options given below:
1. A, Bonly
2.A B, and C only
3. A, and E only

4.Band C only

Options:

4855843621. 1
4855843622, 2
4855843623. 3
4855843624. 4

Question Number : 621 Question Id : 485584906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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1. A Bonly
2.A. B, and C only
3.A and E only
4. B and C only
Options :
4855843621. 1
4855843622, 2

4855843623. 3
4855843624. 4

Question Number : 622 Question Id : 485584907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match List I with List IT

LIST I-Source of finance LIST II-Character
A |Capital Market I [Fill the gap 1n startup or early stage financing
B. [Venture Capatal 1L [Finance for mvestment infixed assets
C. |Angel Investor II1. |Capital which is high potential-high risk
D. |Specialized Financial Institution | IV. Mobilize the financial resources on a nation wide scale

Choose the correct answer from the options given below:

1. A-IV, B-1. C-III, D-II

| ]

CA-TV, BIOL C-L D-II

AL B-IL C-IV, D-I

L]

4, AL B-IL C-1, D-IV

Options:

4855843625. 1
4855843626. 2
4855843627. 3

4855843628. 4

Question Number : 622 Question Id : 485584907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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1. A-IV. B-1, C-III, D-II

| B

A-IV, B-1IL. C-I, D-II

AL B-IL G-IV, D-I

L8]

4. A-II. B-II. C-L. D-IV

Options:

4855843625. 1
4855843626. 2
4855843627. 3
4855843628. 4

Question Number : 623 Question Id : 485584908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match List I with List IT

LISTI LISTII
A, [Integration difficulties I. |Too much borrowings from market
B. [High leverage II. [New set charges due to changed circumstances
C. |Boardroom split IIL [Styles of leadership
D. Difficulties in cultural integration| IV, [Change in composition of directors

Choose the correct answer from the options given below:

1. A-L. B-II. C-IV, D-IIT

| ]

CA-IL B-IV, C-I, D-III
3. A-IL. B-I. C-IV, D-III

4. A-ILL B-1, C-IIIL D-IV

Options:

4855843629. 1
4855843630. 2
4855843631. 3

4855843632. 4

Question Number : 623 Question Id : 485584908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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| ]

CA-IL B-IV, C-I, D-III
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LS

4. A-IL. B-1. C-III, D-IV

Options:

4855843629. 1
4855843630. 2
4855843631. 3
4855843632. 4
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Match List T with List I

LISTI LISTII

. [Proprietary statements| . [Legal rules followed in operation of business

Franchising 1. |Type of relationship
Contract explanation | IIL [Use of name
Operation manual IV, |Gives exclusive rights of local distribution to independent retailers

o|o]w]s

Choose the correct answer from the options given below:

1. A-IV, B-IIL C-IL, D-I
2. A-IIL B-IV. C-1, D-II
3. A-IL B-IV, CAIIL DA

4. A-IIL B-IV. C-1I, D-I

Options:

4855843633. 1
4855843634. 2
4855843635. 3
4855843636. 4
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1. A-IV. B-III. C-I1. D-I
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2 AL B-IV, C-1. D-II
3. A-ILL B-IV, C-IIL D-I

4, A-IIL. B-IV. C-I1, D-I

Options:

4855843633. 1
4855843634. 2
4855843635. 3
4855843636. 4
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Match List I with List II

LIST1I LISTII
Pricing that does not consider competitor
" laction and their effect on pricing of the product
B. |Pricing that can result in fast diffusion and adoption 1I. Variable Pricing
C Pricing where research and development cost
" lof making a new product is recoversd quickly
D Pricing that permits different rales to be extended to
" |different customers for the same goods or services

I. Penetration Pricing

1L Cost-plus Pricing

IV skimming Pricing

Choose the correct answer from the options given below:

1. A-I1, B-1. C-IV. D-III

[ ]

AL B-L C-IV, D-II
3. A-IIL B-ILL C-IV, D-I

4. A-IV, B-1, C-III, D-II

Options:

4855843637. 1
4855843638. 2
4855843639. 3

4855843640. 4
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1. A-IL B-L, C-IV, D-III

2 AL B-L G-IV, D-II
3. AIIL B-IL G-IV, DI

4. A-IV, B-L, C-IIL D-II

Options:

4855843637. 1
4855843638. 2
4855843639. 3
4855843640. 4

Sub-Section Number : 2
Sub-Section Id : 485584236
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 626 Question Id : 485584911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
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Question Key Details :
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Comprehension Comp1




Case study

Rajat was studying 1n class X. He had to drop out from school as his family could not afford it. He had to take
ajob of a peon in an office to provide money for his family. He lost his job at the office as the bank inferest
rate had gone up and the office was finding it difficult to meet expenses. On his way home he stoped at a snack
stall to eat something. There he got the idea of opening his own snack stall. Rajat went to meet Mr Om, who
was known to hus father and used to give finance to people i need. Mr. Om agreed to give finance to Rajat.
Rajat took 2 lakhs from Mr. Om and purchased a stall for 380,000 and some utensils and gas for 220,000, He
purchased vegetables, bread, oil, spices ete for 210,000, cups, plats and disposable tems for 25000, He
decided to make sandwiches and sell them for 250 each as the competition was high and he wanted customers
to come to his stall. He named his food stall “Paras food stall.”

In the disposable item, Paras also purchased some boxes so that customers who wanted to take the food home
can be given in the boxes. This mereased his cost by 26000. By the end of the year, the demand of the
sandwiches made by Rajat increased and carned a profit of 380,000 after paying taxes.

Due to the populasity of the sandwiches of Rajat, bis two friends approached him and asked Rajat if he could
help them. Rajat told them that he will manufacture the sandwiches and they would be given the right to
distribute them in different parts of the city. The cost of production reduced as Rajat now had to produce in
bulk. Rajat’s friends are also very happy as all the sandwiches got sold and everyone knew about the
sandwiches made by Rajat.

Identify the type of investor Mr . Om 1s

1. Angel investor

[ ]

. Venture capital

. Share holder

Lia

4. Bank

Options:

4855843641. 1
4855843642. 2
4855843643. 3

4855843644. 4

Question Number : 626 Question Id : 485584911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Case study

Rajat was studying 1n class X. He had fo drop out from school as his family could not afford it. He had to take
a job of a peon in an office to provide money for his family. He lost hus job at the office as the bank inferest
rate had gone up and the office was finding it difficult to meet expenses. On his way home he stoped at a snack
stall to eat something. There he got the idea of opening his own snack stall. Rajat went to meet Mr Om, who
was known to hus father and used to give finance to people m need. Mr. Om agreed to give finance to Rajat.
Rajat took 2 lakhs from Mr. Om and purchased a stall for 380,000 and some utensils and gas for 220,000, He
purchased vegetables, bread, o1l, spices ete for 210,000, cups, plats and disposable tems for 25000, He
decided to make sandwiches and sell them for Z50 each as the competition was high and he wanted customers
to come to his stall. He named his food stall “Paras food stall.”

In the disposable item, Paras also purchased some boxes so that customers who wanted to take the food home
can be given in the boxes. This increased his cost by ¥6000. By the end of the year, the demand of the
sandwiches made by Rajat mcreased and eaed a profit of 280,000 after paying taxes.

Due to the popularity of the sandwiches of Rajat, his two friends approached him and asked Rayat 1f he could
help them. Rajat told them that he will manufacture the sandwiches and they would be given the right to
distribute them in different parts of the city. The cost of production reduced as Rajat now had to produce 1n
bulk. Rajat’s friends are also very happy as all the sandwiches got sold and everyone knew about the

sandwiches made by Rajat.

Identify the net working capital needed by Rajat.

1. 215000

[ ]

. 26000

. 211.000

Lia

4. 321000

Options:
4855843645. 1

4855843646. 2




4855843647. 3
4855843648. 4
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. 26000
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Options:
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4855843646. 2
4855843647. 3
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Case study

Rajat was studying 1n class X. He had to drop out from school as his family could not afford it. He had to take
ajob of a peon in an office to provide money for his family. He lost his job at the office as the bank inferest
rate had gone up and the office was finding it difficult to meet expenses. On his way home he stoped at a snack
stall to eat something. There he got the idea of opening his own snack stall. Rajat went to meet Mr Om, who
was known to hus father and used to give finance to people i need. Mr. Om agreed to give finance to Rajat.
Rajat took 2 lakhs from Mr. Om and purchased a stall for 380,000 and some utensils and gas for 220,000, He
purchased vegetables, bread, oil, spices ete for 210,000, cups, plats and disposable tems for 25000, He
decided to make sandwiches and sell them for 250 each as the competition was high and he wanted customers
to come to his stall. He named his food stall “Paras food stall.”

In the disposable item, Paras also purchased some boxes so that customers who wanted to take the food home
can be given in the boxes. This mereased his cost by 26000. By the end of the year, the demand of the
sandwiches made by Rajat increased and carned a profit of 380,000 after paying taxes.

Due to the populasity of the sandwiches of Rajat, bis two friends approached him and asked Rajat if he could
help them. Rajat told them that he will manufacture the sandwiches and they would be given the right to
distribute them in different parts of the city. The cost of production reduced as Rajat now had to produce in
bulk. Rajat’s friends are also very happy as all the sandwiches got sold and everyone knew about the
sandwiches made by Rajat.

Identify the form of business organisation formed by Rajat.

1. Jomt stock company

[ R

. Joint Hindu family business

. Sole proprietorship

s

e

. Partnership

Options:

4855843649. 1
4855843650. 2
4855843651. 3
4855843652. 4
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Case study

Rajat was studying 1n class X. He had fo drop out from school as his family could not afford it. He had to take
a job of a peon in an office to provide money for his family. He lost hus job at the office as the bank inferest
rate had gone up and the office was finding it difficult to meet expenses. On his way home he stoped at a snack
stall to eat something. There he got the idea of opening his own snack stall. Rajat went to meet Mr Om, who
was known to hus father and used to give finance to people m need. Mr. Om agreed to give finance to Rajat.
Rajat took 2 lakhs from Mr. Om and purchased a stall for 380,000 and some utensils and gas for 220,000, He
purchased vegetables, bread, o1l, spices ete for 210,000, cups, plats and disposable tems for 25000, He
decided to make sandwiches and sell them for Z50 each as the competition was high and he wanted customers
to come to his stall. He named his food stall “Paras food stall.”

In the disposable item, Paras also purchased some boxes so that customers who wanted to take the food home
can be given in the boxes. This increased his cost by ¥6000. By the end of the year, the demand of the
sandwiches made by Rajat mcreased and eaed a profit of 280,000 after paying taxes.

Due to the popularity of the sandwiches of Rajat, his two friends approached him and asked Rayat 1f he could
help them. Rajat told them that he will manufacture the sandwiches and they would be given the right to
distribute them in different parts of the city. The cost of production reduced as Rajat now had to produce 1n
bulk. Rajat’s friends are also very happy as all the sandwiches got sold and everyone knew about the

sandwiches made by Rajat.

Calculate the ROI on the food stall opened by Rajat.

1. 40%

[ ]
L)
Lae ]
=
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=
h
o

Options:
4855843653. 1

4855843654. 2




4855843655. 3
4855843656. 4
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Case study

Rajat was studying 1n class X. He had to drop out from school as his family could not afford it. He had to take
ajob of a peon in an office to provide money for his family. He lost his job at the office as the bank inferest
rate had gone up and the office was finding it difficult to meet expenses. On his way home he stoped at a snack
stall to eat something. There he got the idea of opening his own snack stall. Rajat went to meet Mr Om, who
was known to hus father and used to give finance to people i need. Mr. Om agreed to give finance to Rajat.
Rajat took 2 lakhs from Mr. Om and purchased a stall for 380,000 and some utensils and gas for 220,000, He
purchased vegetables, bread, oil, spices ete for 210,000, cups, plats and disposable tems for 25000, He
decided to make sandwiches and sell them for 250 each as the competition was high and he wanted customers
to come to his stall. He named his food stall “Paras food stall.”

In the disposable item, Paras also purchased some boxes so that customers who wanted to take the food home
can be given in the boxes. This mereased his cost by 26000. By the end of the year, the demand of the
sandwiches made by Rajat increased and carned a profit of 380,000 after paying taxes.

Due to the populasity of the sandwiches of Rajat, bis two friends approached him and asked Rajat if he could
help them. Rajat told them that he will manufacture the sandwiches and they would be given the right to
distribute them in different parts of the city. The cost of production reduced as Rajat now had to produce in
bulk. Rajat’s friends are also very happy as all the sandwiches got sold and everyone knew about the
sandwiches made by Rajat.

Naming the food stall "Paras food stall" ts a component of product marketing. Identify the component of
product in the above statement.

1. Branding
2. Packaging
3. Labelling

4, Pricing

Options:

4855843657 1
4855843658. 2
4855843659. 3
4855843660. 4

Question Number : 630 Question Id : 485584915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Comp1

T 81 X H SO R VG U1 1 S T D1 U oI foh 3 UNGR 399 @) ot B 38
o1 3 ] IR & for0 0% SUee) e o [0 O praiers B Rl @l A el 01 | derd o
TP e 7 T Flch 9 I Tl & ag T U AR BTaerd a1 el ! O] oA fenet 6l ¥l
T ST T 0 U 60 w10 W 38 GH o (070 51| 51 390! T W T Ge B [GaRaA |
o7 4 it v T, o e T o 6 T a4 SR e A ] O 2 41 4 o e
1 U ol o o 95 31 10 vt 41 ol 9 2 i foru o 80,000 990 &1 e 3R 20,000 908 1
9 U 97 S TG | 39 Sedl, o, e, FTel Said 10,000 900 qu U, e iR fSwiere
TR 5000 T HBRIET | 6 Wil iR T151 1 o &I 1 IR T & DRV 58 HEidE
1 3R 3 50 0 A 3eTs o o1 F0fg fora | 3 o) i e T A " UR9 8 i ¥l
357 A B fagiore o i i T ofl 8 1 TR o 1 =1 2 9 ol o o 9 1 569
! T 6000 90 TG T | K1 94, 70 & 1 G T 45109 1 D1l g 7T AR Cod T
& §12 80,000 B 1 AT HHT |

57 & HSfal o e e & HRU, SHh &) S I U 1Y SR ¥eic ¥ U o 9 g Al
HEE % e & 1 3900 1 378 gl 1o 9 FSfaa S iR 38 ER & e - 3f oo aie
TR fo T | STE @ A B B T it o @1 3@ U B S B 081 | o &
% 1 a5 W g1 § e o a1 e i & ol 390 R U U Sefad & ok B 9l ol §
1

TS €0 &1 4 " URY DS BRG] HIblc 1 31 B U Y ¢ | 34 UG

s

2, UaB T

3 A

4, g FHuRoT
Options:
4855843657. 1
4855843658. 2

4855843659. 3
4855843660. 4



Sub-Section Number : 3

Sub-Section Id : 485584237
Question Shuffling Allowed : No
Is Section Default? : null

Question Number : 631 Question Id : 485584916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

Case study

Rajat was studying 1n class X. He had to drop out from school as his family could not afford it. He had to take
ajob of a peon in an office to provide money for his family. He lost his job at the office as the bank inferest
rate had gone up and the office was finding it difficult to meet expenses. On his way home he stoped at a snack
stall to eat something. There he got the idea of opening his own snack stall. Rajat went to meet Mr Om, who
was known to hus father and used to give finance to people i need. Mr. Om agreed to give finance to Rajat.
Rajat took 2 lakhs from Mr. Om and purchased a stall for 380,000 and some utensils and gas for 220,000, He
purchased vegetables, bread, oil, spices ete for 210,000, cups, plats and disposable tems for 25000, He
decided to make sandwiches and sell them for 250 each as the competition was high and he wanted customers
to come to his stall. He named his food stall “Paras food stall.”

In the disposable item, Paras also purchased some boxes so that customers who wanted to take the food home
can be given in the boxes. This mereased his cost by 26000. By the end of the year, the demand of the
sandwiches made by Rajat increased and carned a profit of 380,000 after paying taxes.

Due to the populasity of the sandwiches of Rajat, bis two friends approached him and asked Rajat if he could
help them. Rajat told them that he will manufacture the sandwiches and they would be given the right to
distribute them in different parts of the city. The cost of production reduced as Rajat now had to produce in
bulk. Rajat’s friends are also very happy as all the sandwiches got sold and everyone knew about the
sandwiches made by Rajat.



Identify the component of product mix, that Rajat used for conventence of customers who wanted to take food
home.

1. Branding
2. Labelling
3. Promotion

4. Packaging

Options:

4855843661. 1
4855843662. 2
4855843663. 3

4855843664. 4
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Comprehension Comp2

Case study

Rajat was studying 1n class X. He had to drop out from school as his family could not afford it. He had to take
a job of a peon in an office to provide money for his family. He lost his job at the office as the bank inferest
rate had gone up and the office was finding it difficult to meet expenses. On his way home he stoped at a snack
stall to eat something. There he got the idea of opening his own snack stall. Rajat went to meet Mr Om, who
was known to hus father and used to give finance to people m need. Mr. Om agreed to give finance to Rajat.
Rajat took 2 lakhs from Mr. Om and purchased a stall for 380,000 and some utensils and gas for 220,000, He
purchased vegetables, bread, oil, spices ete for 710,000, cups. plats and disposable ttems for 25000, He
decided to make sandwiches and sell them for Z50 each as the competition was high and he wanted customers
to come to his stall. He named his food stall “Paras food stall.”

In the disposable item, Paras also purchased some boxes so that customers who wanted to take the food home
can be given i the boxes. This increased his cost by T6000. By the end of the year, the demand of the
sandwiches made by Rajat increased and earned a profit of 280,000 after paying taxes.

Due to the popularity of the sandwiches of Rajat, his two friends approached him and asked Rayat 1f he could
help them. Rajat told them that he will manufacture the sandwiches and they would be given the right to
distribute them in different parts of the city. The cost of production reduced as Rajat now had to produce in
bulk. Rajat’s friends are also very happy as all the sandwiches got sold and everyone knew about the
sandwiches made by Rajat.

Identify the type of franchise used by Rajat where he allowed his friends to distribute his products.

1. Business franchise
2. Manufacturing franchise
3. Business format franchise
4. Product franchise

Options:

4855843665. 1

4855843666. 2

4855843667. 3
4855843668. 4
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Options:

4855843665. 1
4855843666. 2
4855843667. 3
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Case study

Rajat was studying 1n class X. He had to drop out from school as his family could not afford it. He had to take
a job of a peon in an office to provide money for his family. He lost his job at the office as the bank inferest
rate had gone up and the office was finding it difficult to meet expenses. On his way home he stoped at a snack
stall to eat something. There he got the idea of opening his own snack stall. Rajat went to meet Mr Om, who
was known to hus father and used to give finance to people m need. Mr. Om agreed to give finance to Rajat.
Rajat took 2 lakhs from Mr. Om and purchased a stall for 380,000 and some utensils and gas for 220,000, He
purchased vegetables, bread, oil, spices ete for 710,000, cups. plats and disposable ttems for 25000, He
decided to make sandwiches and sell them for Z50 each as the competition was high and he wanted customers
to come to his stall. He named his food stall “Paras food stall.”

In the disposable item, Paras also purchased some boxes so that customers who wanted to take the food home
can be given i the boxes. This increased his cost by T6000. By the end of the year, the demand of the
sandwiches made by Rajat increased and earned a profit of 280,000 after paying taxes.

Due to the popularity of the sandwiches of Rajat, his two friends approached him and asked Rayat 1f he could
help them. Rajat told them that he will manufacture the sandwiches and they would be given the right to
distribute them in different parts of the city. The cost of production reduced as Rajat now had to produce in
bulk. Rajat’s friends are also very happy as all the sandwiches got sold and everyone knew about the
sandwiches made by Rajat.



"Rajat’s friends were able to sell all the sandwiches as everyone knew about the sandwiches made by Rajat."
Identify the advantage of franchising to the franchisee.

1. Capital requirement
2. Knowledge of the market
3. Product acceptance

4. Management expertise

Options:

4855843669. 1
4855843670. 2
4855843671. 3

4855843672. 4
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Case study

Rajat was studying 1n class X. He had to drop out from school as his family could not afford it. He had to take
a job of a peon in an office to provide money for his family. He lost his job at the office as the bank inferest
rate had gone up and the office was finding it difficult to meet expenses. On his way home he stoped at a snack
stall to eat something. There he got the idea of opening his own snack stall. Rajat went to meet Mr Om, who
was known to hus father and used to give finance to people m need. Mr. Om agreed to give finance to Rajat.
Rajat took 2 lakhs from Mr. Om and purchased a stall for 380,000 and some utensils and gas for 220,000, He
purchased vegetables, bread, oil, spices ete for 710,000, cups. plats and disposable ttems for 25000, He
decided to make sandwiches and sell them for Z50 each as the competition was high and he wanted customers
to come to his stall. He named his food stall “Paras food stall.”

In the disposable item, Paras also purchased some boxes so that customers who wanted to take the food home
can be given i the boxes. This increased his cost by T6000. By the end of the year, the demand of the
sandwiches made by Rajat increased and earned a profit of 280,000 after paying taxes.

Due to the popularity of the sandwiches of Rajat, his two friends approached him and asked Rayat 1f he could
help them. Rajat told them that he will manufacture the sandwiches and they would be given the right to
distribute them in different parts of the city. The cost of production reduced as Rajat now had to produce in
bulk. Rajat’s friends are also very happy as all the sandwiches got sold and everyone knew about the
sandwiches made by Rajat.

Identify the component of the business environment that was responsible for Rajat to loose his job.

1. Political
2. Economic
3. Social
4. Technological

Options:

4855843673. 1

4855843674. 2

4855843675. 3
4855843676. 4
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Case study

Rajat was studying 1n class X. He had to drop out from school as his family could not afford it. He had to take
a job of a peon in an office to provide money for his family. He lost his job at the office as the bank inferest
rate had gone up and the office was finding it difficult to meet expenses. On his way home he stoped at a snack
stall to eat something. There he got the idea of opening his own snack stall. Rajat went to meet Mr Om, who
was known to hus father and used to give finance to people m need. Mr. Om agreed to give finance to Rajat.
Rajat took 2 lakhs from Mr. Om and purchased a stall for 380,000 and some utensils and gas for 220,000, He
purchased vegetables, bread, oil, spices ete for 710,000, cups. plats and disposable ttems for 25000, He
decided to make sandwiches and sell them for Z50 each as the competition was high and he wanted customers
to come to his stall. He named his food stall “Paras food stall.”

In the disposable item, Paras also purchased some boxes so that customers who wanted to take the food home
can be given i the boxes. This increased his cost by T6000. By the end of the year, the demand of the
sandwiches made by Rajat increased and earned a profit of 280,000 after paying taxes.

Due to the popularity of the sandwiches of Rajat, his two friends approached him and asked Rayat 1f he could
help them. Rajat told them that he will manufacture the sandwiches and they would be given the right to
distribute them in different parts of the city. The cost of production reduced as Rajat now had to produce in
bulk. Rajat’s friends are also very happy as all the sandwiches got sold and everyone knew about the
sandwiches made by Rajat.



Identify the source of the 1dea field from where Rajat got the idea of opening a food stall.

1. Natural resoures

b

. Trading related

. Service related

LS]

4. Creative efforts

Options:

4855843677. 1
4855843678. 2
4855843679. 3
4855843680. 4
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4855843677. 1
4855843678. 2
4855843679. 3
4855843680. 4
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